RESPOSTAS DOS EXERCICIOS DE REVISAO - complementacdo
ENSINO FUNDAMENTAL - 82 ANO

1. A) Fator Comum
) b(c—-Db)
1) 2x( 2x* — 3ax- 6)
B) Agrupamento
1) (a+b). (x+y)
1) (m-2) ( m+a)
2. A)da’-12ab+9b’
B) x> +4xy + 4y’
C) X* + 2xy +V’

3. A)A=y?+13y+30 e(y+3).(y+10) P=4y+26 eP=2(2y+13)
B)A=ab+3a+2b+6e(b+3)(a+2) P=2a+2b+20 eP=2.(a+b+5)

92 ANO
1.

a)$=1{0,2}
b)S=1{0,-2}
)S={-5+5}
d)s={2}

e) S={0,4}
f)s=1{2,6}
g)s={-1,6}
h) S= &

i) S=1{1/2, 3}

)$={0,2}

2. A)7V3cm  b) 3W1lecm  ¢) V=343cm?® eA=294cm?



